Uit toboi1goodbootd—0 o 4

00 10000 (system of linear equations, simultaneous linear equations) 0 000000000000 0O
o00oo0oDo0ooO00ooooooDoooooOoooo0Ooooo0 1goooooooogoooooDoog
go0ooo0ooo0 obodooo0oUoooooooooooooOOoDoDooDOoDOOoOOoOoOooOOgooDooOl
O000000oDoo0oo0o0ooooooo0o0d0o0o0ooooooooooDooooooooog
000o00oDoo000DOo00ooOoooooDooooo0ooooOOo0ooD 10o00ooDoDoooooog
goddodoooooo0o0oooDooooDooooooDO00oodooOUooDoOoOooDoooooODO
o0oodooD0ooo ooooooOo0oOooooooUooOoDoDOoOO0OoDOooOOODooDOoooo
oooooon

obO10000

a1y + a12T2 + -+ 1T, = by

211 + a22%2 + - + A2 Ty = bo

(1.1)
Ap1T1 + Ap2X2 + -+ + GppTy = bn
gooOooooooo
> aijz; =b; (i=1,2,...,n) (1.1a)
j=1
O00oooooooooooo
a1 a2 ... Qin 1 b1
@21 A22 ... Q2n T2 bs
=1 (1.1b)
apl QAp2 ... Qpp Tn bn
O00oooooooooooooooon
Az =5 (1.1c)

Oo0O00oO00oooOoOoOO000O00 ADOOOOO000000000D0O0MO00CCDOOOOODOO

000 (direct method) 0000000000 O0O0OOO0OOOO ADODODOUOOUOODOOOOOOO A
ooooobobOosOO0DDOOODODO1I000000O00DOOODOOODOOOOODDODO
uobooboooooooooooon

A \ b 00 oooo

00000 | Gauss-Jordan O OO0 A7F
ooo Gauss O OO Crout O




2 goooboom 00 00 gogoogn

1.1 0OO0Odd

oboboooObOoO0000bO00obO0obO0ooooooooboobooonboo o000 Jo IxJooo

a1 a12 Lo Qg
a21 a22 Lo Qg

= [ai]-] =A
ar1 ar2 ...oarg

obOooooooog
0000 [0 A0 BODOOO IxJOOOOOO10O00O0OO0OOOOOODOOO

A+ uB=C (1.2)

000 A p0000000CO IxJOOOD0OO000 ¢ =Aa;; +pb; 0000
[0O0j0 A0 IxJOOOBO JxKOOOODAOOOO BOOOOOOOOOOOOOOOOO

AB=C (1.3)

COIxKDODDOOO00 eg=Y]  a5bpp 0000

1xJOOO JOOOOOOO (row vector)DIx1 000 I00O0O00O0OO (column vector)D OO0 O
000000000000 (squarematrix) 000 000000000O00000O0O00O «; 000000
(diagonal elements) 0 000000000 [a;]0000 j<i000000D0O0OO0O0O00ODOOODODO
(upper triangular matrix)0j >:000000000000000000 (lower triangular matrix)0 O O
000 e; 000000000000 0O0O0O00O0O0O (diagonal matrix)000 a; =1000000000
O (unit matrix, identity) 0 00 000000000000 I00000O00O0O0O

nxnO0 AODDOO (determinant) O O

aix aiz ... Qin
a21 922 e a2n
.| = laij| = |A| = det(4)

an1 An2 .o Qpn

000000000 |A|DO00O0D ;000000000
000oooO0 () nxe0O0 AO0O 00000000000 ANOOODOOUOO BOOOOO

B =E;(\A (1.4)

000 E,(MV)0nxnO0000 1000000000 ANOOOQOOO

000000 BOOOOOO|B|=AA/0000
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(i) OO0 AOD 000 kQOOOOOODOOD BOOOO
B=EuA (1.5)
000 E 00000 I0:00 k000000000

000000 |Bl=-]4A0000
(i) 00 ADD i0D00 k0D AODODDOOOODODOOOO BOOOO

ooD E,0000D0710:00 k00 XNOODDOOOODODOOOO
1 0

) = RS o)

0 1
000000 |B|=|40000
00000000000 (1.4)-(1.6) 0000000 nxmO0 ADODODODOODOOOOOOOOO0O0O
000 E(\DEx0Ex(\) 0 nxn0D00000000BO nxmO0000000 10000000
0000000 ADDDODODD000000000000A00000 I000000000000
nxn00 AD0DDO0DO0O000000000000000000 |A|Onr-1000000 (minor)d
0000 A0D 00 j00000000000 (-1)" 0000000000 (cofactor) 0000 000
000000 A;0000

Al =) aiAy =) aijAs (1.7)
j=1 i=1
00000000 000000000000000000000 ADOOO A'000O0
AA=Aat =1

oboooooooooooo

1
A7t = ——adj(A4) (1.8)
4]
000 adj(A)000 ADDOO0D (adjoint matrix) 000000000000
All A21 e Anl

A12 A22 o An2

adj(A) = (1.82)

Aln A2n e Ann



4 O000MM0O00 Gauss-Jordan OO OO OO

1.2 JO0000oooond

obooOobO0o1ob0o00o0o0o0ooooooobOOobooobobooooboobobooooboooboobOooonoa
ooooboooooboooooobooobooboobooooobooboobboooooboooooooboooobooobon
00000o0o0o0o0oooooooooOooo (1.)ooooo A0DOODOoOoOoOo yOODOODOOOODOO

a1 a12 ... Q1n b1
AO a1 a9 ... Q2pn b2
Gnl QAp2  «.. Gpp by

0000000000000 0o0U0oUoUo0O00o00U0oD 14 00000000DDO0ODOODOO
00000 (1500000000000 00000000000000OO0D (16000000000
0000000A0OD0OOOO0 A'0O0OO

o --- 0 1
0 )

A7TAY =
o0 - 1 =z,

00000000 A°0 ADODOODODDODOOD0OO0O0O0OO0O0OO0O0DODOOOOD I0D0O00O0O0O
00000000000 A°060000020000A000O0OO0OODOOOODOOOODOOODOOO
ooooooOobooooobooo

000000000000 00 (Gauss-Jordan reduction0 000 0)00000000000000OO
oooooooooo10000

2:131 —2:172 + x3 =3
3x1 —3x2 + 123 =06 (].9)

T1+ Ty —x3 =2

000000000 110000000000 100%=10004°00 10000000000000
0000000000000 100 1/20000200000 100 -300000000O0OO30001
O0 -10000000000000D0000rk=2000020000000 ape:0D000O00O0OOO
oooobobo 2000 3000000D0DO 200000000000 000DODODOOOEK=3000
030000000000000000000000000 A°00000 1000000000000
019000z =1z=-223=-30000000 A'0010000030000000000
ooooo

1 —1/2 1/2
ATl = Bss(3/4)Ers(1/4) -+ Ex(1/2) = [ 2 —=3/2 1/2
3 -2 0

O00O0O000O0O0 |A|C000AQ IDODOU00DODOODOOE=1020000k=2000000 20

O00k=30 -1/20000000000(4]=2-(-2)-(-1/2)=20000
Gauss-Jordan 0O 00000 1.10000000DOCOCOOO0O0ODOOOOO kOOODODODOOOOO

0000000000000 ek 000000000 e0 0000000000 0OOOODOOOOOOO
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0 1.1: Gauss-Jordan O OO0 QOO0

k| OD0OA—>T 00O boaz 0oooo
—2 1 3

0 -3 1 6 A°
1 -1 2

-1 1/2 3/2
0o -1/2 3/2 | E31(—1)E21(—3)E1(1/2)A° = A?
2 -3/2 1/2
-1 1/2 3/2

[
S OO O WN

2 2 =3/2 1/2
0 -1/2  3/2
1 0 -1/4 7/4

0 1 —3/4 1/4 E12(1)E2(1/2)E23 A" = A?
0o 0 -1/2 32
1 0 0 1

310 1 0 -2 E»3(3/4)E13(1/4)E3(—2) A?
0 0 1 -3

00000000110 k=20000000 Jag| t=k+1,...,n)0000 e0000000000

000000000000 j=k0000O0D0O0O0O0OCOOO0O0O0O0O0OO0 ()00 s=k00000000O
0000 (b)DDO0O0O0i#k00000000

aij = aij/aii (Z =k; j=k+1,...,n, 7’L+].) (1103)
Qjj = G5 — Qi (l #k; j=k+1,...,n, n—l—l) (].].Ob)

000 Gauss-Jordan 00O FORTRAN 95/90 Free format source form 00 OO0 O0000000000O0O0
oOoooooo0ooooooO0oboooOoboOoboOoOoO!oo0boO0o0oO0OooOoOO00000000000
oooo

Dotk stk ko ks ks sk sk ok sk sk ks ksl ok sk sk sk ok sk sk sk sk ok stk sk ko sk skl sk sk sk ok ksl ok ok sk o ok ok
! Solution of system of linear equations by Gauss-Jordan reduction
Dotk stk ko ks ks sk sk ok sk sk ks ksl ok sk sk sk ok sk sk sk sk ok stk sk ko sk skl sk sk sk ok ksl ok ok sk o ok ok
SUBROUTINE GAUJOR(a,wa,n,nl,det,e)

DIMENSION a(n,nl),wa(nl)

det=1.
e=MAX(e,1.E-5)
DO k=1,n
w=a(k,k); IF(ABS(w)>e) GOTO 11 'a(kk) |>e?
1=k; 12 1=1+1; IF(1>n)STOP 5555 !improper coef matrix
w=a(l,k); IF(ABS(w)<=e) GOTO 12
FORALL (j=k:n1) lexchange rows
wa(j)=a(k,j); a(k,j)=a(l,j); a(l,j)=wa(j)
ENDFORALL
det=-det; 11 det=w*det !compute |Al
FORALL (j=k+1:n1)a(k,j)=a(k, j)/w !compute eq(1.10a)

cycle_1: DO i=1,n; IF(i==k)CYCLE cycle_1
FORALL(j=k+1:n1)a(i,j)=a(i,j)-a(i,k)*a(k,j) !compute eq(1.10b)
ENDDO cycle_1
ENDDO
END

10 (1.10)000000000000000000000000000000000000000000000000000000
oooooOooooOoOoooo



6 O000MM0O00 Gauss-Jordan OO OO OO

00000000000 00000000000000 GavJorOODODOODOD0 a0O0O00O0 AOOOO
o000 000000000n=n0n1=n+10e=c0000000000000a(i,n)0 0000
000000 «20det0 000 |A|D0D0000D0OO0DOODODOODOOOO j=k00O0O0O0OOOOO
0000A00000OO00O0O0ODODO0OO0ODOODODODOO0000000DO000000 e, DODOO0O eQO
gboboooboboobooboooboooooooobooboooooooooooobooobooobobOobooboOooo
000000000000 SToOPO 055550 00000000000 0000O|A|00000O0OO0OOO
oobooooboooooobo1obboooooboooboooooooboo0obooobooobooboboOooo
OO0 OMAIN PROGRAMOO OO ODOOOOO0O0O0O0OO0OOCOOOOOOOOOOOOOOOODOOODOO

1.3 000000000 A'000

000000 A0D0DDO0O0O0O0 100000000000000000000000 b, 20000
0000000000 Gauss-Jordan 0O OO0 000D GAUJORO OO OODO AD 4,64, 0000000
nl=n+2000000000 ', 2z200000000000000000000 ADDOOOOOO 1
000000000000000000 b0000000000000000000 (inverse matrix) A~?
gbooooooooo

r=A""b (1.11)

000 0000000000000000 A°'00000000 GAUJOROOODOO0O00000DOO000
000000 A0 ADOODODO I0ODODO0ODOODOOnt=2n00000000000O0CDOIODOOOOOO
00 A'000000000000000000000000 20200000000000000000
n200000000000000000

Onx2n000 AQ0OODOCOCOCODO AUDOOOOOOODOOO0 LOOOOO IO0000O0OOOOOO
rROODOOOOOOOOOOOOOOD kOOODOODOOOOOODOOODLOO1000 kOODOOO
OROOK+1000nDOO0OO0O000DODDOOOOOOOOOOOODOOOOODOOODODOOOO
godoobouoooboobiod nxpnOOoooobOOODOODODOOODOOOOOOODOOOOODOOO
gooboooooboooooobooobooooooooooboooboboobooobobooboooobooon
0000000 (1.900000000000oUD 1200000000000000000O0O0O0OOO
0000200 k=20000000000 |axex|]0 e000000O000O00OCOOOOOOOOOOO
OO000DOO000OO0O0ROODOOODOOO200030000000D0000DO000 k=20000
LOg20000000000000000RO0O0O00O00O00000 200000003000000000O
o000 30000 RrRO0bDOOODO0O 200000000 L0 ROOOOO nxnOODO AOOOO
O00O0O0000000 k000000 ROOOOODODOOOOOODDOOO0AODDODOODOD KOOO
gbooooboobooboooboooboooobObooooobooooboooooooooboooboobooooon
oboboOoobOoooboooOoooboooooooooonog

Gauss-Jordan 00 0 0000OCOOOOOO 120000000000000000000000 (1.10)
goooooooooboboobooooogd

Dotk stk ok sk stk sk sk sk stk ko sk ksl sk ko sk sk ksl sk sk ksl ok ok sk ok ko ok sk o ok
! Matrix inversion by Gauss-Jordan reduction

Dotk stk ok sk stk sk sk sk stk ko sk ksl sk ko sk sk ksl sk sk ksl ok ok sk ok ko ok sk o ok
SUBROUTINE MATINV(a,wa,iw,n,det,e)

DIMENSION a(n,n),wa(n),iw(n)
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0 1.2: Gauss-Jordan OO OO0 O0OO0OOOO0O

k L(A—1) R(I — A) A
2 =2 1 1 0 0 2 -2 1
0|3 -3 1 0 1 0 3 -3 1
1 1 -1 0 0 1 1 1 -1
1 -1 1/2 1/2 0 0 | 1/2 -1 1/2
110 0 -—1/2 —3/2 1 0 —3/2 0 -1/2
0 2 —3/2 -1/2 0 1 -1/2 2 —3/2
1 -1 1/2 1/2 0 0 1/2 -1 1/2
210 2 —3/2 -1/2 0 1 -1/2 2 —3/2
0 0 —1/2 -3/2 1 0 | -3/2 0o —1/2
1 0 -1/4 1/4 0 1/2 | 1/4 1/2 —-1/4
0 1 —3/4 —-1/4 0 1/2 | =1/4 1/2 —3/4
0 0 —1/2 -3/2 1 0 | -3/2 0 —1/2
1 0 0 1 -1/2 1/2 1 1/2 -1/2
310 1 0 2 —3/2 1/2| 2 12 —3/2
0 0 1 3 -2 0 3 0 -2
1 —1/2 1/2
4 2 —3/2 1/2
3 -2 0
det=1.
e=MAX(e,1.E-5)
FORALL (k=1:n)iw(k)=k
DO k=1,n
w=a(k,k); IF(ABS(w)>e) GOTO 11 !la(kk)|>e?
1=k; 12 1=1+1; IF(1>n)STOP 5555 !improper coef matrix
w=a(l,k); IF(ABS(w)<=e) GOTO 12
FORALL (j=1:n) !exchange rows
wa(j)=a(k,j); ak,j)=a(l,j); a(l,j)=wa(j)
ENDFORALL
iwO=iw(k); iw(k)=iw(1l); iw(l)=iwO 'keep row numbers in iw
det=-det; 11 det=wxdet !compute |A]
a(k,k)=1.
FORALL (j=1:n)a(k,j)=a(k,j)/w !compute eq(1l.10a)
cycle_1: DO i=1,n; IF(i==k)CYCLE cycle_1
w=a(i,k); a(i,k)=0.
FORALL(j=1:n)a(i,j)=a(i,j)-w*a(k,j) !compute eq(1l.10b)
ENDDO cycle_1
ENDDO

! exchange columns caused by exchange rows
cycle_2: DO j=1,n; IF(iw(j)==j)CYCLE cycle_2
1=j; 21 1=1+1; IF(Giw(1)/=j) GOTO 21  !#1
FORALL (i=1:n)
wa(i)=a(i,j); a(i,j)=a(i,l); a(i,l)=wa(i)
ENDFORALL
iw(1)=iw(j)
ENDDO cycle_2
END

ubooouooobooooobobooboboibnb GavJorODOOOOOODOD iwOOOO0OO0OO0OOOOOO
oOoooOooO0 100 nO000D0C0DOOCODO0 10000000 DDOD iwODDOOOOODOoOODOO#A!
U000 0000000000000 00iwd00000000000D00 «.O0D0OO00000000



8 DO00mO0O0 GaussOODOO OOOO

1.4 0O0OO0OOOO

Gauss-Jordan 000000 ADOD 0000 JO000000000000000000000 (Gaussian
elimination) 0 ADOOOOODOO000 V00000000 I0000000000000000 100
00000000000000 Gauss-Jordan JO0O0OD 00000000 U000 1000000000
0000000000000000000 Gauss-Jordan 000000000000 0Gauss000000
000000000000 10000 (19000000 1.3000000000000000 A—-UO
0000000 k0000 k000000 Gauss-Jordan 0O O DOO000000000000000U —1T
00000k=300 Ey(—ass)Eis(—a3) 00k=200 Ejy(—a;») 0000000000000000
0000 Gawss1O0DOOO0 00000000

013 GaussOODODOOOODO

k A—>U b—c | k U1 c— T
2 2 1 3 1 -1 1/2 3/2
03 -3 1 6 0 1 —3/4 1/4
1 1 —1 2 0 0 1 -3
1 -1 1/2 3/2 1 -1 0 3
10 0 -1/2 3/2 ||3|0 1 0 -2
0 2 -=3/2 1/2 0 0 1 -3
1 -1 1/2 3/2 1 0 0 1
210 2 =3/2 1/2 ||[2|0 1 0 -2
0 0 —1/2 3/2 0 0 1 -3
1 -1 1/2 3/2
0 1 -3/4 1/4
0 0 —1/2 3/2
1 -1 1/2 3/2
310 1 -3/4 1/4
0 0 1 -3

sk ks ook ok ook ook o ok ok ok sk o ok o ok ook ook o ok ok ok ook ok ok sk o ok ok o ko ok o ko ok sk o ko o sk o Kok o ok o
! Solution of system of linear equations by Gaussian elimination
Dotk sk ok ok ks sk s ok ook sk ko ok sk sk s ksl sk sk ksl sk sk ks sk sk ok ks ik ok sk ko ok ko ko ok sk ok
SUBROUTINE GAUSS(a,wa,n,nl,det,e)

DIMENSION a(n,nl),wa(nl)

det=1.
e=MAX(e,1.E-5)
cycle_1: DO k=1,n; 1=k !The first step computation
w=a(k,k); IF(ABS(w)>e) GOTO 11 'la(kk) |>e?
1=k; 12 1=1+1; IF(1>n)STOP 5555 !improper coef matrix
w=a(l,k); IF(ABS(w)<=e) GOTO 12
FORALL (j=k:n1) lexchange rows
wa(j)=a(k,j); ak,j)=a(l,j); a(l,j)=wa(j)
ENDFORALL
det=-det; 11 det=w*det 'compt [Al
FORALL (j=k+1:nl)a(k,j)=a(k,j)/w !compt (1.10a)

IF (k==n)CYCLE cycle_1
FORALL (i=k+1:n, j=k+1:nl)a(i,j)=a(i,j)-a(i,k)*a(k,j) !compt (1.10Db)
ENDDO cycle_1

DO k=n,2,-1 !The second step computation
FORALL(i=1:k-1)a(i,n1)=a(i,nl1)-a(i,k)*a(k,nl) 'compt (1.10Db)
ENDDO

END
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0000000000000000

000 (band matrix) 000 00000000000000000000000000000000O0O0
0000000000000 00000nxe0000 ADODD ;000005 <i+my 000 j> itmy
00000000000000000000000 m0000000000m,0 0000000000
0 my—m+1=m000000000000000000000000000000000000000
000000000000000000000000000000000000000000000 1.10
000000rxmO0 ADDODOOOOODOODOOOODOOOO0O00000 0000000
000 A0D0 ;00000 ADOD a;; 0000 @y = ai 44, 0y =d:;s000000000000
0dp=0;00000000001000000000000000000000Gauss0000000
000000000000000000000000000000000 A0D00D00DOO0D0OO0OO0
00000000000000000000000

1 n my (Q m2

ooad

N

A
011: 000 A0D0O0OOCODO A

0000 ADDOD GaussODOODOOOODDO (L109)0o000O0ooO0ooUoUoOoooOoooo

Gij = 45/ @0 (G=1,...,72), b; = bi/aqo (i=k) (1.12a)

000 iy = min(n, k—m1), j» = min(ms, n—k), j = ju+k—i, jo=k—i0000000000000
0000 ADDDOOD ADDOOOOD k00000000000 ADDOODOOOOOOO00 ADCO
000000000000 (1.122)00 ;0000000 0<j<m,000000000000000
00000000 (1.12h)0 jO00000000000000040 k00000000,0 50000
00 ADDOODOODDO00D j0 4, =00 j0000a,0000000 k0000000 (1.12a)
0000000000000 k+1<i<n0000000 m<jo=k—i0000000000000
k000 ADDOODDODDDO ag, Grjys Gigme1 00000000000000000
000000 A0DDOO Gauss0OODOOOO0D0D0O0000

Dotk stk ko ok sk sk s ok sk sk ko ko ks sk s sk sk sk ksl sk sk sk sk sk sk ks ko ok ko ko ok sk ok
! Solution of system of linear equations with band matrix

! by Gaussian elimination using a reduced array

Dotk stk ko ok sk sk s ok sk sk ko ko ks sk s sk sk sk ksl sk sk sk sk sk sk ks ko ok ko ko ok sk ok

SUBROUTINE GAUSSB(at,b,n,ml,m2,det)

DIMENSION at(n,ml:m2),b(n)

det=1.

cycle_1: DO k=1,n !The first step computation



10 000MO000GaussO0OO00O OOOO

det=at (k,0)*det

b(k)=b (k) /at (k,0) 'compt (1.12a)
IF (k==n)CYCLE cycle_1

§2=MINO (m2,n-k)

FORALL (j=1:j2)at (k, j)=at (k,j)/at (k,0) 'compt (1.12a)
i2=MINO(n,k-m1)

DO i=k+1,i2; jO=k-i

b(i)=b(i)-at (i, jO)*b(k) 'compt (1.12b)
DO jk=1,j2; j=jk+k-i
at(i,j)=at(i,j)-at(i,joO)*at (k,jk) 'compt (1.12b)
ENDDO
ENDDO
ENDDO cycle_1
DO i=n-1,1,-1 !The second step computation

j2=MINO (m2,n-1)
DO j=1,j2; k=i+j
b(i)=b(i)-at (i, j)*b(k) 'compt (1.12b)
ENDDO
ENDDO
END

at 00000 ADDOObODODOOO0 b00000 x00000000000000000000
ooooooboobooboooobon

000 0000000000 ADODOOODOOOD ADODOOODOO000000000000000
goooooobboboboooooboooobool1gbboooog sboooobooooboooao
U0O000 20x200000000000000000 19x19=3610a00000 361x361 =130 3210
at00000 361x39=1407900000000 1/900000000 28x1400000000000
O0000D 27x13=3510a00000 351x351=1232010at 00000 351x27=94770000
01/1300000000000000000000000000 «t0000000000DO0O0DOO0OODOO

01 nO000000000000C0O0O0O0000000000000000 nx30000000000
ooooooooo

ubooooooobD 0000000000 O0OOO0ODOOOOCOOOO0

Dok ke sk sk sk s ok sk e ok sk sk sk ksl s ok sk ok ki sk ok sk sk sk sk sk sk sk s s ok sk sk ks s ek sk ok ks s ok sk sk ok ok
! Solution of system of linear equations with tri-diagonal matrix
! by Gaussian elimination using reduced array
Dok ke sk sk sk s ok sk e ok sk sk sk ksl s ok sk ok ki sk ok sk sk sk sk sk sk sk s s ok sk sk ks s ek sk ok ks s ok sk sk ok ok
SUBROUTINE GAUSS3(at,b,n)
DIMENSION at(n,3),b(n)
DO k=1,n-1
b(k)=b(k)/at(k,2)
at (k,3)=at (k,3)/at (k,2)
b(k+1)=b(k+1)-at (k+1,1) *b (k)
at (k+1,2)=at (k+1,2)-at (k+1,1) *at (k,3)
ENDDO
b(n)=b(n)/at(n,?2)
DO k=n-1,1,-1
b(k)=b(k)-at (k,3) *b(k+1)
ENDDO
END

02 oobOooooboboooboobooiod e, 0 e 000000000O0nx300000000
000000000 (Cooo0oOo00oooOOoUOooOooooooooo)o
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0000 a,000000 at(1,1)00a,; 0 at(n,3) 000000000000 0OD GAUuss3O OO
O000000000000k=n00000000000000000000 ADOODOOOO ADO
ooooooooooboooooo

Dskeskeke ke sk sk sk sk sk e ok sk sk sk ksl s ok sk ok ks sk ok sk sk sk sk sk sk ke sk s s ok sk sk ks s ok sk ok ks s ok sk sk ok ok
! Solution of system of linear equations with modified tri-diagonal
! matrix by periodic boundary condition using reduced array
Dok ke sk sk sk s ok sk e ok sk sk sk ksl s ok sk ok ki sk ok sk sk sk sk sk sk sk s s ok sk sk ks s ek sk ok ks s ok sk sk ok ok
SUBROUTINE GAUSSP(at,b,n)
DIMENSION at(n,3),b(n)
DO k=1,n-1
b(k) =b(k) /at(k,2)
at (k,3)=at (k,3)/at (k,2)
at(k,1)=at(k,1)/at(k,2) !period cond
b(k+1) =b (k+1) -at (k+1,1)*b(k)
at (k+1,2)=at (k+1,2)-at (k+1,1) *at (k,3)

at(k+1,1)= -at(k+1,1)*at(k,1) !period cond
b(n) =b(n) -at(n,3)*b(k) !period cond
at(n,2)=at(n,2)-at(n,3)*at(k,1) !period cond
at(n,3)= -at(n,3)*at (k,3) !period cond
ENDDO
b(n)=b(n)/(at(n,1)+at(n,2)+at(n,3)) !period cond
DO k=n-1,1,-1
b(k)=b(k)-at (k,1)*b(n)-at (k,3) *b(k+1) !period cond
ENDDO
END

1.5 00000
00000 (Crout method) OO0 1000000000 ADOOUOUOOOOUDO LOO
A=LU (1.13)
ooo0oobooooboo LUz=00 20000000000000D00O00O0100DO
Lg=1b (1.14a)
Uz =gq (1.14b)

ooboboooooooooboooo oobooooooobooooobbooooon

lll 0 .. ... 0 1 u12 u13 .. ul’n
121 122 0 st 0 0 1 U3 - Uon
L=1: = " ., U=|: o . : (1.15)
. . - 0 . . Un—l,n

Crot 0000000 DOODOO0OODOOOODOO 10000
2331—2372—5[73:—2
3x1 — 2x2 +x3 = —5

$1—2$3:5



12 D000 0 00Crout00 OOOODO

0 14: Crout 00 OODOO

k L U A(A> L+U—1) | B(b—q) I L°
0 0 1 2 =2 -1 -2 1 0 0
0 0 0 1 3 -2 1 ) 0 1 0
0 0 1 1 0 -2 5 0 0 1
2 0 0 |1 -1 -1/2] 2 -1 -1/2 -1 172 0 0
113 0 0 1 3 -2 1 -5 0 1 0
1 0 0 1 1 0 -2 5 0 0 1
2 0 0 |1 -1 -1/2] 2 -1 ~-i)2 -1 /20 0
213 1 0 ]0 1 52 |3 1 52 —2 -3/2 1 0
1 1 0 1 1 1 —2 5 0 0 1
2 0 0 |1 -1 -1/2] 2 -1 ~-i)2 -1 /20 0
3/3 1 0|0 1 5/2 |3 1 52 —2 -3/2 1 0
1 1 —4]/0 o0 1 11 —4 —2 ~1/4 1/4 -1/4
B(— ) - At
1 —1i/z 1/2 1)2
3 —7/8 3/8 5/8
—2 ~1/4 1/4 -1/4

000000 14000000000 LUODODODOOOODOOOO (1.13) 000000

ann =l a2 = liiue a3 = li1uis
a2 =la1 a2 = la1uiz + a2 a2z = la1urz + laouns

azr =l31  azz = lz1u12 + 132 azz = lz1u13 + I32u23 + 33

O000000k=0000000000 L, UO0000000AQMWIIDO0OO0OKk=100000L0O0O
10 01, lo1, 150000 10 uie, w3 0000000000000k =200000L00 20 I, I3z
OUO0O0 20w 00000000000 k=30000L0O0O0300,:0000000000000 4
ooooooodoo L, vboo0 10000000000 ADOO0DOOOOoooDOooOooDoO Lovuo
obobooooooobooooobDbOb Lvbobooooboob A0O0ObOOobooboooooo

000 (1.4 0000000000 1 0000000000000 0O0ODO0O00 A=LUObL = LqgO
I=LL7'00000000000¢0 L7'0000U0D A0D0D0O000DDDOOOOOOOOOb000
I00000000000000500000 ¢00 600000 L~'00000000000 k=300
000000 LOUOL+U-I0¢0L~'00000000000000 10000 (1.14b)000 z0O0
00000000000000000 2000000 A'000000¢=Uz0L"'=UA'0000
000000 A'0020 ¢q000000000DODOOO0ODOD L7'0000000000000

Crout 000000 140000000000000O0O0LUODOOOODOOO (1.13)000000O0O

k—1
lik :aik—Zli,,u,,k (kz]., 2, ceey, NG izk, ,TL) (1163)
v=1
1 k—1
uk; = —(akj —Zlk,,u,,j) (k=1,2,...,n—1; j=k+1,...,n) (1.16b)
Lk ~
0000l (i:l,...,n), U1 (j=2,...,n),..., Lik (i:k,...,n), (7% (j=k+1,...,n), vy lnn

00000000LUO000D000000000000 |k 00000000 0000000000
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0000o0o00o0o0oo00o00oO0 10000000 14000000000 ooooooOoO

k—1
1
e — 7 b - ll/l/ k:1,2,..., ].].7
0= g (b= Xt ( n) (1.17a)
Th= Qe — Y UkuTy (k=mn,...,2,1) (1.17b)
v=k+1

Crout 000 0OO0DOOOOODOOOODO

1 sk s oo R ok o s K o K K o RS R o R K K K KRR SRS RS K o K o R K o K K K o K
! Solution of system of linear equations by Crout method
1 sk sk ok ook ko ok ook o oK K ok oK ook oK oK K o K o oK o oK oK oK o KK KK oK K KK ok oK o Ko K o K ok oK oK K
SUBROUTINE CROUTO (a,n) 1LU-decomposition
DIMENSION a(n,n)
cycle_1: DO k=1,n; IF(k==1) GOTO 11
DO i=k,n
DO nu=1,k-1
a(i,k)=a(i,k)-a(i,nu)*a(nu,k) !compt (1.16a)
ENDDO
ENDDO
IF (k==n)CYCLE cycle_1
11 DO j=k+1,n; IF(k==1) GOTO 12
DO nu=1,k-1
a(k,j)=a(k, j)-a(k,nu)*a(nu, j) !compt (1.16b)
ENDDO; 12 a(k,j)=a(k,j)/a(k,k) 'compt (1.16b)
ENDDO
ENDDO cycle_1
END
!
SUBROUTINE CROUT(a,b,n) !Compt triangular matrix egs
DIMENSION a(n,n),b(n)
DO k=1,n; IF(k==1) GOTO 21
DO nu=1,k-1
b (k)=b(k)-a(k,nu)*b(nu) 'compt (1.17a)
ENDDO; 21 b(k)=b(k)/a(k,k) lcompt (1.17a)
ENDDO
DO k=n-1,1,-1
DO nu=k+1,n
b(k)=b (k) -a(k,nu)*b(nu) !compt (1.17b)
ENDDO
ENDDO
END

CROUTOO U0 A0 LUOO0O0O0O000OO0DOOOO a0 AODDOOODOODOOUODODOODOOOa0 L+U-1I
oooo0oboO0o0oDbO0crouTODOOOOODODOO1000000D00000000a0 L4+U-10
OO0 bo000000000000000a0 L+U-I0000Ob0 x:00000000000000
obooobooooobooobooooboobboobooooobooOoobo0onoooooo

000000 ADODO A-'000000000000L+U—-I00 (1.16)000000000 AD
00000000000000000000Crowt0000000000000000000000000
00000000 100000000000000000000 A0 Crowt00000 (1.16a)0 (1.16b)0
(1.172)0 (1.17b) 000000 A0DO0OD ayj = @iy 00 Ly =L, uj =@:;,_,00000000



14 D000 0 00Crout00 OOOODO

o0oooooooLvooDoo

k—1
lix = aix — Y liyeili s (k=1,2, ..., n;i=k, ..., i) (1.18a)
v=rv1
1 k—1 ~
iy = a_(d’“” -3 lk,y_kay,j_,) (k=1,2,...,n—1; j=k+1, ..., js) (1.18b)
kO
v=vo

000 A=k—i, p=j—k00000 kOOOODO (1.18) O ;Z0000OO0O00OOoOoOo 11000000
000 ADDODO AQDOOOOO00O0k<i<nO0m <k—iDO0OO00 4y = min(n, k—my) 00
0000 vOOOODQOO0OODOOOO0O01<Kv<Ek-10000000 l~i7,,_i|:| v—id my <v—i0d, .,
Ok—v0O me>k—»000000000000w; =max(1,i4+my, k—m)00000000 (1.18b)0O
U, 00000000 k+1<j<n00 j—k<m, 00000 j, =min(n, k+mx)0 00000000
1<v<k—10m; <v—kOme >j—rv 00000 vo =max(l, k+mq, j—me2) 0000

k—1
1 -
G = — (bk -3 zkyy,kq,,) (k=1,2,...,n) (1.19a)
lko e
Jz2
Tk = qr — Z ak7,,_kﬂjy (k =N, ..., 2, ].) (].].gb)
v=k+1

000 vy =max(1, k+my), j» = min(n, k+m,) 00000 (1.19) 000000000000 dg,—k O
v—kO my <v-k<m,000000000000000
0000 A00O0O Crout 000 0000000000000

sk ks ok ok ok ook ook ok ok sk ok sk ok o ok ook o ok ok ook ok sk ok ok sk ok o ok ok o ok ok ok ok o Kok ok o
! Solution of system of linear equations with band matrix

! by Crout method using reduced array
Dtk sk ok ok ook ko ok ook ko ok ook ook sk ook ok sk ko sk ko ko sk ok ok ok ook o ok ok o

SUBROUTINE CROUTBO(at,n,ml,m2) !LU-decomposition
DIMENSION at(n,ml:m2)
cycle_1: DO k=1,n; IF(k==1) GOTO 11

i2=MINO(n,k-m1)
DO i=k,i2; la=k-i; nul=MAX0(1,i+ml,k-m2)
DO nu=nul,k-1
at(i,la)=at(i,la)-at(i,nu-1i)*at(nu,k-nu) !compt (1.18a)
ENDDO
ENDDO
IF(k==n)CYCLE cycle_1
11 j2=MINO(n,k+m2)
DO j=k+1,j2; mu=j-k; nu2=MAXO(1,k+ml,j-m2)
DO nu=nu2,k-1

at (k,mu)=at (k,mu)-at (k,nu-k) *at (nu, j-nu) 'compt (1.18b)
ENDDO; at(k,mu)=at(k,mu)/at(k,0) !compt (1.18b)
ENDDO

ENDDO cycle_1
END
!
SUBROUTINE CROUTB(at,b,n,ml,m2) !Compt triangular matrix eqgs
DIMENSION at(n,ml:m2),b(n)
DO k=1,n; IF(k==1) GOTO 21

nu2=MAX0 (1,k+m1)
DO nu=nu2,k-1
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b (k)=b (k) -at (k,nu-k)*b (nu) !compt (1.19a)
ENDDO; 21 b(k)=b(k)/at(k,0) 'compt (1.19a)
ENDDO
DO k=n-1,1,-1; j2=MINO(n,k+m2)
DO nu=k+1, j2
b (k)=b (k) -at (k,nu-k)*b (nu) !compt (1.19b)
ENDDO
ENDDO
END

CROUTBOO 00U A0 LUODUOOOODOOODDOO0D atD ADDDODODO0OOO0O0D atd LHU-T
gooooocrouTBOOOOODOOODOOO010000000000000000O0 atd L+U-I0O0O
OrO0b000000000O0CDOOO0COat0 L+U—-IOOOOOPO00 c.0O00O0O0O0ODOOOOOO
000000 «t00000000000 00000000000 m,m20000000000000
0 CROUTBOL CROUTBO OO ODOOOOOODODO crouTOOODO crROUTO O OOOOODOOODOOOOO

0000000000000 0000000n0 1.50 Gauss-Jordan 00 Gauss OO OO Crout OO0 0O 0O
OCramer 0000000000 DOOO0OOOODODOOODOOOOOOOODOOOO Cramer0O0O00O0O
ooooooo

1 n
T = 4] ZAjibj (i=1,2,...,n) (1.20)
j=1

000 A; 000 AO000 e;; 00000000Cramer0000000 (n+2)!00000000000
oboboooboooboooboobooobooooobobooobooooooooooobooboOobbOooo
gbobooboboobo0o oboboooooobooooobobooboooooooboooooboooobooon
Cramer 00 0000000000000 000O0GaussO0000 Crot 000000 OO0O0OOOOO
gooooboobooobo0oooooboooooooooooobooboooooboOooobobooobon
oooooooooOOoOooObOOoo0Oo0ooOO00oDbDOO0O0O0D DOooOooDOOoOoO0O0g CroutiO
Oo0000O0OCrout00 0000000000000 00O00OOCO0OOO0OODOODO0OODOOODOOO
gooooooooooooo0 vbogobooooobooDboOo0o0ooOooooobOooObO0ooooOon
ooooooooOobooboooboobooboobooooooobo

O 1.5: Cramer 0 0 Gauss-Jordan 0 O Gauss DO OO Crout DO OO OOOO

00m Om 000000 | On=5 n =10 n =100 O
Cramer 0 (0OODO) | 2.7(n+1)! 1,949  109x10°
Cramer 0 (0 0O0) 2n*/3 425 6,775
Gauss-Jordan O n® 135 1,045 1,015x10® O
Gauss 00O 2n%/3 115 805 682x10° O
Crout O 2n%/3 769 677x10% O
CROUTO) 2n%/3 579 657x10° O
CROUT) 2n? 190 20x10° O

O000000000000000000000000 FORTRAN 90/950 compiled error O warning
obobooooooobooooboooooobobooboooboooooobooooboooobooobooobooon
gbobobobooooooooooooobooboooooo



